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1. The minimum delay required between the initiation of two 

successive memory operations is known as 

a. memory cycle time 

b. memory access time 

c. transmission time 

d. waiting time 

Ans: A 

2. Ethernet uses 

a. bus topology 

b. ring topology 

c. star topology 

d. tree topology 

Ans: A 

3. An integrated circuit (IC) is 

a. fabricated on a tiny silicon chip 

b. a complicated circuit 

c. much costlier than a single transistor 

d. an integrating device 

Ans: A 

4. The term MIPS refers to 

a. millions of instructions per second 

b. multiple instructions per second 

c. megabytes of instructions per second 

d. millions input processor set 

Ans: A 

5. Which of the following best describes the term data 

processing? 

a. The collection of information or data 

b. The distribution of information or data 

c. The manipulation of information or data 

d. The storage of information or data 

Ans: C 

6. Keyboard is an 

a. input device 



 

b. memory device 

c. output device 

d. all of these 

Ans: A 

7. A physical connection between the microprocessor memory 

and other parts of the microcomputer is known as 

a. path 

b. address bus 

c. route 

d. all of these 

Ans: B 

8. The number of logical records in a physical record is 

a. Block 

b. Blocking factor 

c. Sector 

d. Field 

Ans: B 

9. Continuous line drawing are produced using 

a. chain printers 

b. daisy wheel printers 

c. Plotters 

d. thermal devices 

Ans: C 

10. Which of the following is non-impact printer? 

a. Drum printer 

b. Line printer 

c. Chain printer 

d. Laser printer 

Ans: D 

 


